NI \_ij',.‘\',r \\_Fﬁ\i.\\'; \\“___f\‘,:\’; \\_:\—’_,\\’; \\_:;‘(’,,\:;7\ \_“‘QI,\\/;W\ \_:t:i,,\(;'\ \:‘!:j_,\\/;'\\:'1:1,\\/;'\\,__;:!,,\ \/,'
3\*- N Al g N i SN e N S s S B Tl N e e Ny T T N N e NS R P e A8 i =g
"y iy
*i;l\ Heinemann Mathematics 6 Home Link-up Rounding to the nearest hundred, i
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é,’\’ 1 Round to the nearest hundred: (a) 360 (b) 236 (c) 145 o
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4 (d) 858 (e) 450 (f) 948 N
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There are 382 pistols and 131 muskets in the sunken galleon. oYX
b |
. i ~\
382 is about 400. 131 is about 100. Ry
Altogether there are about 500 guns. oLy
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39 2 Estimate () 111 + 261 () 130 + 319 (0 175 + 237 E
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b There are 412 swords and 187 daggers in the galleon. 37
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£ 412 is about 400. 187 is about 200. o % PR
EN There are about 200 more swords than daggers. |
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- (d) 650 - 410 (e) 581 - 229 (f) 999 - 878 o
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_:-f, Heinemann Mathematics 6 Home Link-up Calculator: place value, addition
T;;‘ Textbook pages 9 and 10 and subtraction
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N (a) addedto | Y53U ! (b) added to 318253, il
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P to give 38238. to give 11239¢. A
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N 2 (a) Which two of these numbers add to make 1 million? N
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e (b) Which two of these numbers have the smallest difference? e
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